1000

590

240

o |

- 370
|, 150 30| |- 150

550 400 | 510 oL L

4L L

4l L

vhol
7

A

610

250

250

L i 2915 L
7 7
L 480 L 1800 L 635 L
7 7 7 7
L 440 40y | 1490 121 208 40) | 565 40y |
7 (K M A A
| 150 160} 150 |, 110 5 250 50} |, 250 50| | 300 L 250  s0p 250 60 250 351 ) 140 ) 120 } 375 L
408 7 Ao 7 Kl A 1 7 1 A A 7 7 7
oo ol
S 3(8
2|5 2|5
V4
o
= 3
g 3
150 150
e 9|
3
170 o 3
ol oo
%0 5 -~ uiu
210 = T ==
o] 3 = T
170 150 ) 80
g 170 9 3 210 [T
g|e o|o o|2 -~ N N 100
sl I3 T18I3 N ~ TTTTTITT
~ ~ o~ ~ o o|o o|o o|o =15 =15 235
J 83 3/8 2/8 3/8 2/ 570 EEENNEN
3 < MK MK M MK MK .
3 L I — 1 — — 1 1 — 1 o2
i il 1 i il 1 1 i i HH o EE
Ei Ei
80
% 210
m 210 150
150
w E E
E a g 80
210
/] N
T T 18T — = 150
| I | ) 3 3 )
Slo Slo Sl ol & 8
3/8 38 28 38
2R 8 &l 8
2501 |
200
ﬁu_s 10|
9 9
g g
250 |
200
olo
28
3R
Slo
I
] ] ] ] ] I ]
| | | | | | | |
J ol BE) oo ol d ol ol
g ] 28 3(8 38 S 3(8 38
&I &R &I &R &I &R
a0p | 695 0y ) 695 40y | 565 5L, 270  40) ) 560 25 905 20y 555 40y |
(K A A A7 (K 17 A A
L 1470 L 890 L 350 L 1190 L 635 L
7 7 7 7 7 7
L 4535 L
7 7

| 120 | 150 130 | 100 120
12 )

150

560

7
40 |60 |

40, 210 40 |

285

278 12 313

140

1330




